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FOREWORD

The Students’ Item Response Analysis Report for the Form Two Chinese
Language National Assessment conducted in November, 2023, intends to provide
feedback to all educational stakeholders on the factors that contributed to the
students” performance in Chinese Language.

The Form Two National Assessment (FTNA) is a formative evaluation which
intends to monitor students’ learning and provide feedback that teachers, students
and other educational stakeholders can use to improve teaching and learning
processes. The report highlights the factors that made the students to score either
low or high marks while attempting the questions. The factors for scoring high
marks include the ability of the candidates to identify and adhere to the need of the
questions and to express themselves in Chinese Language. The factors for scoring
low marks include having insufficient knowledge of vocabularies, principles and
grammatical rules.

The National Examinations Council of Tanzania (NECTA) believes that the
feedback provided in this report will show the challenges for which education
stakeholders should take proper measures to improve the teaching and learning
Chinese Language subject. Therefore, students will acquire knowledge, skills and
competences indicated in the syllabus for better performance in future assessments
and examinations.

Finally, the National Examinations Council of Tanzania would like to thank all
who participated in the preparation of this report.

Dr. Said Ally Mohamed
EXECUTIVE SECRETARY
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1.0 INTRODUCTION

This report presents the analysis of the students’ performance of the Form
Two National Assessment (FTNA) in Chinese Language subject for students
who sat in 2023. The assessment was set according to the Chinese Language
syllabus of 2015.

The assessment paper had three sections; section A, Multiple choices and
matching items. Section B Language use and section C writing composition.
Section A had fifteen (15) marks, section B had seventy (70) marks and
section C had fifteen (15) marks, thus making a total of 100 marks.

The students’ performance analysis reveals how the students responded to
questions, highlighting their weaknesses and strengths while answering the
questions. It also explains the requirements of each question by indicating the
expected responses and how the students answered the questions. It
comprises of sample extracts from the scripts of the students’ responses in
order to deliver a general overview of how the students responded in relation
to the needs of each question. Besides, the report indicates the analysis of the
students’ performance per topic, conclusion and recommendations. A
summary of performance of the students per topic has been shown in
Appendix.

Further data analysis reveals that, the performance of students was generally
good because 1,921 students sat for the Form Two National Assessment in
November, 2023, among them 1,794 (93.39%) students passed the
assessment while 127 (6.61%) students failed. The performance of students
in each grade 1s shown in Table 1.

The performance of the students in each grade for 2022 and 2023 1is shown in
Table 1.

Table 1: Performance of Students in each Grade

Grades
Year Sat Pass A B C D F
2022 1,561 1,402 128 128 518 628 159
2023 1,921 1,794 352 307 638 497 127




2.0

The performance of the students was classified into three (3) categories:
good, average and weak. The performance was considered as weak if the
score ranged from 0 to 29 marks and it has been represented by red color, as
average if it ranged from 30 to 64 and it has been represented by yellow
color, and as good if it ranged from 65 to 100 marks and has been
represented by green color. This classification helps to provide a clear
understanding of students’ achievements based on their scores.

It 1s expected that this analysis will help Chinese teachers, students and all
educational stakeholders in enhancing their teaching and learning strategies
for the Chinese Language in order to improve the overall performance.

ANALYSIS OF THE STUDENTS’ PERFORMANCE IN EACH
QUESTION

2.1 SECTION A: Vocabulary Use

This section included two questions, namely; question 1 and question 2.
The students were required to answer all the questions. Question 1 had
10 marks and question 2 carried 5 marks, therefore making a total of 15
marks.

2.1.1 Question 1: Multiple Choice Items

The students were given ten multiple choice items. These items
were divided into 2 parts, part I and part II. In Part I, the
students were required to read a passage then answer the
questions by selecting a correct answer. In part II, the students
were given 5 multiple choice questions set from the topic of
Family introduction and other different topics, it tested student’s
ability to introduce family members to others as well as the
ability to express themselves in the Chinese language.
The passage in Part I was as follows:
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The data indicates that 1,921 (100%) students attempted the
question. Out of them, 1,076 (56.01%) students scored from 7 to
10 marks showing good performance, 787 (40.97%) students
scored from 3 to 6 marks which is an average performance and
58 (3.02%) students scored from 0 to 2 marks which is a weak
performance. The general performance in this question was
good, since, 1.863 (96.98 %) students scored 30% or above.
Figure 1 summarizes the students’ performance in question 1.
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Figure 1: The Percentages of the Students’ Performance in
Question 1

The analysis of data shows that, 1,076 (56.01%) students
performance is well, their scores ranged from 7 to 10 marks.
These students had a good command of Chinese language. They
understood needs of the question because they had sufficient
knowledge of vocabularies, sentence structures and their
semantic. For example, in part I, item 1, the question asked 337
24 Bf4E#2 R ?  (What time does Mary wake up?). The correct
answer was C & % - (at half past five in the morning). They
wrote the correct answer because they managed to identify the
correct time shown in the passage which Mary wakes up. They
noted that alternative A %A % ( 5:00) was not the correct
answer because it was a time Mary was playing basketball. They
also noted that alternative B 5<% ¥ (6:30) was not the correct
answer because it was the time where Mary’s family was taking
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breakfast, while alternative D 55 ,% (6:00) was not the correct
answer because it was the time where Mary’s mother was
cooking food.

Item 2, required the students to name who cooks breakfast, the
question was #2411 KIEBLF4? (Who cooks breakfast at their
home?). The correct answer was B %545 (Mother) because in
the passage every one mentioned in the passage had his or her
activity. They identified that it was the mother who cooked
breakfast. These candidates noted that alternative A & &
(father) was not the correct answer because the father owns a car
and C 4848 (sister) had another time table, which was to wake
up and not preparing food. This showed that, students had
sufficient knowledge about the time table discussed in the
passage and vocabularies. They were able to differentiate
between #& (prepare food) and #/Ek (doing homework).

In item 3, the students were asked to mention the means of
transport used by Mary and her sister to go to school. In the
passage it stated that Mary and her sister ride A 47 % (a
bicycle) to go to school. Other means of transport mentioned in
the passage like A 4% (bus), B K% (train) were owned by
Mary’s father and not the means that was used by Mary to go to
school. In alternative D % #1%4 (taxi) was a means of transport
but not mentioned in the passage. Thus, those who opted for the
correct alternative had sufficient knowledge of the meaning of
that vocabulary.

In item 4, the question required the students to show what kind
of activities were done at 6:30 pm. In the passage it stated that at
6:30 pm Mary and her sister did A 482k (a homework) which
was the correct answer. Other alternatives were not correct
answers because they were sports activities done by Mary and
her sister at 5:00 like B  #X(tennis) C i£ %) (sports/athletics) D
#y % 3% (play football). This shows that students had sufficient
knowledge of Chinese language to comprehend the passage.



In item 5, the students were asked to identify # R E %L .7
(Who does not like to eat bread). The passage showed that
Mary’s sister does not like to eat bread. Whereby, the correct
answer was C #H+4H (sister). Other alternatives were not the
correct answers because, A 377 (Mary) likes to eat bread, B
4545 (Mother) and D &% (father) were not mention if they
like eating bread or not. The students who were able to
recognize the answer indicated that, they had enough knowledge
of Chinese language vocabulary.

In Part II, item 1, the students who got this item right, had
sufficient knowledge of Chinese language vocabulary. They
were able to identify the correct answer. They chose the correct

answer C & (o'clock/time) because they knew that this word is
used before a number that indicates time. They also knew that
word A A (day), B 8. (night) and D % (half) were not
correct answers because they do not collocate with the word
(eight) and the context of the question.

In item 2, the students who scored full marks in this item had
sufficient knowledge of Chinese language in using the word £
(who). For example, the question stated that X 78 % & $ /& & $H
() 47 2% ? (I want to go to library to study, ( ) also likes
to go?). The correct answer was A 7 (who) because they knew
the structure and identified its correct position in the sentence.
Whereby B JU cannot be the answer because 1s applicable when
inquiring the about numbers and C % (every) if used in this
sentence structure is an adverb and cannot precede 4., while D
1+ 4 (what) is used when asking a question.

Item 3, required students to recognize uses of the sentence
structure (N/Pronoun+#49+N). For example, #6901 & = F [
A (My friend 1s a Chinese person) the correct response was B
#9 because it is used between nouns, (N/Pronoun+#9+N) and A
% used at the end of the sentence, for example 1%7%2. C 4%, is
used with noun and verb (N/Pronoun+V+4%) example, 123145
1BHF (You speak very well) in this sentence structure 4F cannot

be the answer because there are two nouns between the blanks,
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whereby in item D 7T, is used to indicate the completion of an
action.

In item 4, the students mastered well the comparative sentence
structure (A+B+Adjective), in this structure, the students
realized that the word b (comparison) was the correct answer.
Thus, they wrote the correct answer < = b 4L 40 X # %
(Brother 1s two years older than sister), where other distracters
like B 7~ (not) and /X (not) both used for negation where the

structure ~+Adj/V and 3% ( with ) structure of A (noun)+ 3k
+B (noun) +V.

In item 35, the students who wrote correct answer were familiar
with the measure word /> which can be used for people, things
and days. For example, &/~ 2 & -5 %/ B3 (Every
Saturday he goes to walk at the park) where other measure
words like A 2 used for small animals like dog and cat, C % is
measure word for long and narrow objects like trousers, and D
% was the measure word for companies, restaurant and hotels.
This shows that the students who got this item right, had
sufficient knowledge of using different measure words used in
Chinese language. Extract 1.1 1s a sample of the student’s
correct responses to question 1.



Ma I shénme shihiu gl chudng '

| & @ (taetmL &K 7 (< )
wi difin Il didn béan wi didn ban il didin
A A& B & ¥ C & 8 # D & &
Ta men jid shul zud zdofin
2 emME#H HEM? ()
b b4 mami jid jid Ma I
A EE B 3 4 C 4R D 5HiE
Mali hé jié jie zénme qb suéxiao ?
3. B Aemie B2 2% R 2?2 O(C )

"o gi che sud hoochs qi 2l xingché quirchis £ih ché
Ad Ak B £ C WAl % D #Hkdaf
Ta men lit didgn ban yao rud shénme ?

A finx s Fem Az (B
Fub y& wingqid vindong 17 rdgid
A fFa B B sk C iE#H D WA
Shui bd xi huiin ch? midnbio ?
5. B r8 skt @ a? (C ).
M4 B mima jie jie bi ba
A Bm B C e D £&
Wi méitidn wanshang b chi winfan-
1. £ F £ £ A (C) ¢ iR,
tidn win dian L]

A R B # C 4 D #F

W6 xidng qi td shoguan kin shii y& xiing qb 7
2. B EELEE A, e 8B £2?
shal i méi shénme

A iR B /L Cc & D 42

Wwa péngyou shi Zhimggud rén
& B MAA ¢ B A, :
ne de de e

A R B & C ¥ DT

G ge i€ jig da lidng sui
4. 5 (P) i X &/ ¥,
bi mei gén bl
A R B & Cc R D
Ta méi Xing qf liie gb gongyuin sinb-
5.6 % (©) M+ o B &P,
2hi ge tido jia
A A B A c # D ¥

Extract 1.1: A Sample of the Student’s Correct Responses to
Question 1.
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In Extract 1.1, the student chose the correct answers in all items.

The data analysis shows that, 787 (40.97%) students had an
average performance as they scored from 2 to 3 marks. These
students demonstrated partial knowledge of reading for
comprehension. They also had partial knowledge of the uses of
some vocabulary and expressions. They chose the correct
answers 1n some items but failed in others. which resulted to the
writing incorrect response.

Further data analysis reveals that, 58 (3.02%) students
performed weakly, as they score from O to 2 marks. In part I,
these students failed because they did not understand the
passage and the need of the questions hence ended up randomly
selecting alternatives leading to incorrect responses. For
example, in item 1, the students failed to identify the time which
Mary wakes up because they had inadequate knowledge of
telling time in Chinese language. In this question, C % & ¥
(half past five in the morning) was the correct answer because in
the passage stated that, 247 7 _E 7 % F#2JR (at half past five
Mary wake up). Therefore, students who selected alternative A
A5 (5:00) selected an incorrect answer, because at that time
Mary had another activity which was playing basketball. Few of
them chose alternative B -, % ¥ (6:30) and D »%.% (6:00)
without knowing that these time frames had other activities as
well.

In item 2, the students who scored 0 did not comprehend the
passage. They failed to identify the correct answer 448 (sister).
They did not notice that, #H4H (sister) had another time table,
which was to wake up and not prepare some food. They also
failed to differentiate between %% (prepare food) andf{4F Ak
(doing homework).

In item 3, the students who scored 0 failed to identify the correct
answer. Some students chose A ;%% or B 4 K % without
knowing that there were means of transport owned by Mary’s
father and not used by Mary and her sister. Few students opted
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for D #* /8.4 although it was not mentioned in the passage.
This shows that these students had insufficient knowledge of the
meaning of some vocabularies.

In item 4, the students who scored 0 did not understand the
question #1155 & F 244 42 (at 6:30pm what do they have
to do). The correct answer was A 41 (homework). Some
students opted B 3k (tennis) and others D # 2 3k (football)
and few of them C :iZ #j (doing exercise), these incorrect
responses were contributed by insufficient knowledge of telling

time. They failed to identify the time and the activity done at
that time.

In item 3, the students who got this item wrong failed to identify
who did not like to eat bread. The correct answer was C H4E
(sister). Those who opted for A 375 (Mary). B 4545 (mother)
and D &% (father) were just picking randomly resulting to the
selection of incorrect responses.

In part II, the students who had weak performance failed to fill
the blanks with appropriate vocabulary and expressions. This
was due to the fact that, they had insufficient knowledge of
Chinese vocabulary. For example, in item 1, the students who
got this item wrong, had insufficient knowledge of Chinese
language grammar and vocabulary. They failed to choose the
correct answer C % (o’clock) instead chose A X (day), B %

(night) and D ¥ (half) which did not go together with the word
/\ (eight) with regards to the context.

In item 2, the students who scored 0 failed to identify the
suitable interrogative word A i (who). They chose them by
guessing which led to incorrect answers. This shows that, those
who chose B JU did not know that it 1s used in inquiring about
numbers. Those who chose C 4 (every) did not know that this
was an adverb which cannot precede #.. While D /+4 (what)
1s an interrogative used when asking questions about things.

10



Item 3, the question required the students to recognize the uses
of sentence structure (N/Pronoun+#9+N). For example, 3% 49/
A % % E A (My friend is a Chinese person). The correct
answer was B 49 because it is used after nouns showing
belongingness, on the contrary a particle A 72 used at the end
of the sentence as an interrogative mark, for example 17727

FA=4

and C 7%, a particle used in the structure (N/Pronoun+V+4%)

example, 1 #4714 (You speak very well). Furthermore, D

7 1is an interrogative particle used to indicate the completion of
an action.

In item 4, the students did not master the comparison sentence
structure A+tb+ B +Adjective. They failed to choose the correct
answer D & which compared brother and her sister. Whereby
other distracters like A 7~ (not) and B /X (not) both used for
negation.

In item 5, the students who wrote incorrect answer were not
familiar with the measure word /> which can be used for people,
things  and days. For  example, T
Z2H 5~ % ~E #F (Every Saturday he goes to walk at the
park). They did not know that the measure word A R used for
small animals like dog and cat, C 4 a measure word used for
long and narrow objects like trousers and D % a measure word
for companies, restaurant and hotels. This shows that the
students had insufficient knowledge of measure words. Extract
1.2 1s a sample of the students’ incorrect responses to question 1.
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MA 11 shénme shibkbw gl chudng 7

. & @ t2amdE £ £ 7 (%)
wik didn Ik clidn bin wil dekn ban It dian
A A8 B 7 & ¥ C B & # D & &

10 men jia shul sud zaofan ™'

N RBRMTFR? ( C)

N

b i maAmi & ot Ma Il‘
A EE 4] %44 C LR D oW

Mafi bé jié je sénme g xoéxido 2
3 AE Aol Ea 2 7 (O)

" eud gicha 00 hudeha ql 21 xingche guichd 20 ché

A% Bk iE C taif® D Mg

Ta men lio disn ban yao zud shénme

?
T R R R T P G A b
uo ye wihnggid ylundOng i adqik

A fFak B A E C in #) D oy R

Shui b xi huan chi midnbdo 7

5.9 ~ & s ef @ B? (B ),

M ek Jeé jie ba ba
A 5 B LR ] C 4 4R D EE
W meitiin winshang b chi winfan-
1. & & 5 o £ A (B) of % fm,
tidn win didn
A X B R C & D %
W xidng qu i shogudn kin sha y& xidng q0 ?
2.4 8B LBREN A B, g €8 £?
shul it méi shénme
A i B L c # D H4
Wi péngyou shi Zhonggud rén'
LR M WA A F R A 3
e de e le
AR B W c % DT
Gége (B) Jjtjie da liang sul-
4. ¥ & LR U
b més zén b
A T B it C ik D K
Th miks Alng gf lik q@ gbngyudn sanbir
5.8 (P) 2@+ 2 B K.
zht ge Tido jii
AR B A4 c ¥ D%

Extract 1.2: A sample of the Student’s Incorrect Responses to
Question 1.

In Extract 1.2, the student chose incorrect answers in all items.
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2.1.2 Question 2: Matching Items

The question comprised of columns A and B. Column A had six
items, whereby item 1 was given as an example. The students
were asked to match the statement in column A with the correct
response from column B. The question was set from the topic of
Jobs. This question aimed at testing the students’ ability to
recognize and use different vocabulary related to jobs and
occupations. The question was as follows:

=, ERSAEPPBE. FREEEFLABTYHRT.
A B %
Hui kiiche de rén ldoshi - =1
1. € F& H A A EF.
Zai gongchdng gdngrud hudjia
2. & I 14 B & %K.
Zud mdimai de rén shingrén-
3. M EE M A cC B A.
Zai y1 yuan gdngzud hid sha-
4. A E™® I 4% D #¥+.
T3 zai xuéxiao gdngzud gongrén
S. AESFR L% B 3N
Hua hud er derén st ji-
6. & BJLAHA F &4,
lii shi-
G #9%,
goéngchéngshi-
H I #1 %%,
5%
AL 1 2 3 4
B #£ F
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A total of 1,921 (100%) students attempted this question, out of
whom 771 (30.73%) scored 4 to 5 marks which i1s a good
performance, 717 (55.93%) students scored from 2 to 3 marks
which indicates average performance, however 433 (13.34%)
students scored from 0 to 1 mark which shows a weak
performance. Generally, the students’ performance in this
question was good, since 1488 (77.46%) students scored 30% or
above. Figure 2 summarises the students’ performance in
question 2.

100 -
90 4
80 4
70 4
60 4
50 4

10 4 30.73

30 -

0] 1334 .
10 4

o R

00-25 3.0-6.0 6.5-10.0
Scores

55.93

Percentage of Students

Figure 2: The Percentages of the Students’ Performance in
Question 2

The analysis of data shows that 771 (30.73%) students had a
good performance, as they scored from 4 to 5 marks. These
students demonstrated a good performance because they
understood the needs of the question. They also had sufficient
knowledge of the Chinese characters and vocabulary related to
occupations and work places. For instance, in item 2, the
statement was /£ )" L4 (works in the factory). The students
were expected to match the word related to the word factory
( =) which was H =#2Jf (factory worker).

In item 3, the statement was #2349 A (A person who buys
and sales products). The students were tasked to match it with
the word C # A (businessman). The students who wrote the
correct answer had sufficient knowledge of vocabulary related
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to occupations and working places. They noted that the word %
% (buy/sale) relate with the word & (trade/business). Thus,
they wrote the correct answer.

In item 4, the question stated that /£ [E % T4% (works in the
hospital). Students were required to match with the word %7+
(nurse). The student who scored full mark managed to identify
the correct answer D 47 4 (nurse) because they recognized that a
word #7 =+ (nurse) is a person who works in the & [% (hospital).

In item 5, the statement was 4& fz 5 4 L4 (She works at
school). Those who got this item right had sufficient knowledge
of Chinese language terminologies which enabled them to
identify the correct answer A £ )7 (teacher).

In item 6, the statement stated that &2 JL&9 A (A person who
paints). Students were expected to choose item B & % (Painter).
Students who scored full mark identified the correct answer B
i K because they noted the inclusion of a word & in the
characters. Therefore, they identified the correct answer. Extract
2.1 1s a sample of the students” good responses to question 2.

2%
A 1T 2 z‘liqt 1§ h
B[ F| ¢4 [ c | b [A 5

Extract 2.1: A Sample of the Student’s Correct Responses to
Question 2.

In Extract 2.1, the student matched correctly all the items.

Further data analysis reveals that 717 (55.93%) students had an
average performance, they scored from 2 to 3 marks. This
performance was attributed to partial knowledge of the
terminologies pertaining to occupations and work places. They
managed to match some items correctly while failing in others.
Extract 2.2 1s a sample of the student’s average responses to
question 2.




AR | ] 2 | 3 4 | 5 | 6
E[FIE[Cl& | ALD

Extract 2.2: A Sample of Responses from a Student with an
Average Performance in Question 2.

Extract 2.2 the student matched correctly items 3, 5 and 6 but
failed items 2 and 4.

Furthermore, the students’ response analysis shows that, 433
(13.34%) students had weak performance by scoring from 0 to 1
mark. These students performed weakly because they did not
master the topic. Not knowing the meaning of vocabulary used,
hindered them from matching correctly the given statements
about professions or working places. They matched them
incorrectly by picking randomly the responses. For instance, in
item 2, the students failed to understand the needs of the
question. Instead of matching with H T#2)% (factory worker)
some matched with C # A (businessman) which is not related
to the given question.

In item 3. the students who scored 0 did not understand the
meaning of the statement and the given alternatives. Thus, they
ended up selecting an incorrect answer. One of them wrote T A
(worker) instead of 7 A (businessman). This proves that the
students failed to distinguish the two words.

In item 4, the students who got wrong this item, failed to match
correctly because they failed to distinguish between the word T
A (worker) from the word T 4£ (work) which led to the
matching of an incorrect answer.

In item 5. the students who scored 0 failed to differentiate the
professions words, A # U (teacher) which was the correct
answer and . K (painter). This shows that they matched them

by guessing.
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In item 6, the question stated that, & & )L A (A person who
paints). The students were expected to choose item B & K
(painter). The students scored 0 because they did not understand
the statement, hence leading to incorrect responses. Extract 2.3

1s a sample of the student’s incorrect responses to question 2.

2%
A# 1 2 3 4 5 6

— o -

BEJFIF [DTATB T C

Extract 2.3: A Sample of the Student’s Incorrect Responses to
Question 2.

In Extract 2.3, the student failed to match correctly in all items.

2.2 SECTION B: Language Use

This section comprised of 7 questions, namely question 3, 4, 5, 6, 7, 8
and 9. The students were required to answer all the questions. Each
question carried 10 marks making a total of 70 marks.

2.2.1 Question 3: True and False Items

The students were given a passage to read and answer the
questions that followed by judging if the statement is true or
false by putting tick (V) or a cross (x) respectively. The question
was set from the topic of Environment and Health. The question
tested the students’ ability to comprehend the passage. The
passage was as follows;
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Z, A, a5 THAE LA AR E T, SETAER

W RA,

Biba i de hiubin you i gt googyudn  Ni @ glngyudn zhin di

EEEN B -4 2 3. %428 & X,
wingyvantivbu hén piboliang de hud bé bir  Méitin you hin dub wén ki gegyudnl
MEITRSERERH EX AR S AR ME
wi e * you rén Idi siobi-  Baba ¥é sihuan zii pingywink siin b+ odnal o nin
RAFARKS, EEL IR LA NEBI R J, BB £ X
xidwil zdi pingyuinh dd tigichuim  Nafsqingrén xihuan 2k phagyuanhi €@ i il 1) ¢
THEMRE T AHF. FEAEK & BT KER &,
dd you xi b lidotiin

e SRR B

The analysis data shows that, 1,921 (100%) students attempted
the question, out of whom 1,555 (80.95%) scored from 8 to 10
marks, reflects a good performance, 309 (16.09%) students
scored from 4 to 6 marks, regarded as an average performance,
however, 57 (2.96%) students scored from 0 to 2 marks which is
considered as weak performance. The students’ general
performance in this question was good, since 1,864 (97.03%)
students scored 30% or above. Figure 3 summarizes the
students’ performance in question 3.

100 +
8 80.95
S 80
=
-
% 60 |
<
5
s 40 9
g
= 296

0 e - -
0-2 4-6 8§-10
Scores

Figure 3: The Percentages of the Students’ Performance to
question 3
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The data analysis indicates that, 1,555 (80.95%) students
performed well, they scored from 8 to 10 marks. These students
understood the question and responded correctly. They managed
to identify the important information which helped them to
answer the question. For example, in item 1, the question
statement was /[ £ &% % 49/5 7 (There is a public park
behind father’s house). This statement was true according to the
passage. The students who wrote the correct answer had
sufficient knowledge of prepositions of places, as they were able
to recognize the word /Zi2 (behind) which was used in the
statement and the passage.

In item 2, the statement stated that 2~ & 69 {8 Fa# 1R Z % (The
flowers and trees in the public park are very beautiful). The
statement was correct according to the passage. The students
who got this item right understood the passage and identified the
correct answer.

In item 3. the statement stated &&4L Z R A/ E 23T KM A
(Father also likes to play zaiji in the public park). According to
the passage this statement was wrong, since the passage stated
that & &4 Z W £~ E 24 (Father also likes to walk in the
public park). The one who was playing taiji was %3 %3
(grandmother) while &% (father) likes to walk in the public
park. Hence, the students who got it right managed to
differentiate activities done in the passage.

In item 4, the question was, F42 A%/ E Z ¥ (Young people
go for a walk in the public park). According to the passage the
statement was incorrect since the passage states that, %2 A
SR A EHZ AR EARE (Young people like to rest in the
public park). The students who scored full marks differentiated
the term 4477 (walk) as used in the statement and the word /&
24K Z: (rest) from the passage.

In item 5, the question had the statement »~E 2 & A Ak %

A (Everyday, there are many people in the public park). The
question was true according to the passage. Extract 3.1 is a
sample of the student’s good response to question 3.
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Lird Zhe gé gongyuan [Eichang da-

fFldet X A > @ dE ¥ k. ¢~
gongyuan zin ba ba jia de houbian

1. 2 B £ EEEMN B L, ¢ Vv2
Gongyuanli de hud hé shi hén piaoliang- -

2. ~FE &) L Fo M R E R . ! N2y

Baba wé xlhufin zai gbngyuanh da tajiguan-:

3. EE v Bk A 2AZ 4y KME. (X))

Nidngingrén qu gongyuanli sanbi-

4. F B2 AF AT Kb ¢ D
Giongvuanli méitiiin vou hén dudrén- \/
5. NERE H X H R B A ( )

Extract 3.1: A Sample of the Student’s Correct Responses to
Question 3.

In Extract 3.1 the student responded well in all items.

Further data analysis reveals that, 309 (16.09%) students had an
average performance as they scored from 4 to 6 marks. They
performed averagely because they partially comprehended the
passage. They scored full marks in some items but failed in
others. For example, the students who failed this question did
not master the prepositions of places, as they were unable to

recognize the preposition /Z 4 (behind) as used in the statement.

In item 3, the students who had partial knowledge of Chinese
language semantics failed to identify the answer in this question,
because the one who was playing taiji was #3%5 (grandmother)
while &% (father) likes to walk in the public park. Extract 3.2
illustrates the responses of the student who had average
performance in question 3.
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Lini  7Zheé ge gdngyuin feichdng da

ldo: X A A A I F X (V)

gongyudn zai ba ba jid de houbian

1. 2~ B A€ K B A, (QEVAD

Gongyudnli de hua hé shiu hén pidoliang'
2. 2RAY 4K Ffop K IR . Lol )

Baba yé xihuin zai géngyuanli da taijiquan-

3. €€ & Ed 48 AT irKk#EE., (X )

Nidngingrén qi gdngyvuanh sanbi-

4., F AR 2REZ Y, « v )

Gongyuanli méitan you hén dudrén-

NEE HX K R EA ( X))

A

Extract 3.2: A Sample of Responses from a Student with an
Average Performance in Question 3.

In Extract 3.2, the student wrote correct answer in item 1, 2 and
4 but failed in items 3 and 5.

Moreover, the data analysis indicates that 57 (2.96%) students
had weak performance as they scored from 0 to 2 marks. These
students did not comprehend the meaning of the passage, due to
insufficient knowledge of Chinese language vocabulary.
Therefore, they failed to judge the statements whether it was
true or false. For example, in item 1, the statement was /A~ & /&
& & K49 /5 4. (There is a public park behind the father’s
house), which was true according to the passage. The students
who scored 0 in this question indicated that they had inadequate
knowledge of some prepositions of places. Thus, they ended up
selecting an incorrect response.

In item 2, the statement stated 2~ & #4978 A=A 1kiZ 5% (In the
public park, the flowers and trees are very beautiful). The
statement was correct according to the passage. The students
who scored 0 in this statement showed that they had insufficient
knowledge of vocabularies which hindered them to comprehend
the passage.

In item 4, the question was, F4 A % 2~E 2 # (young
people go to the public park for walking). According to the
21



passage the statement was incorrect since the passage stated <
2 AN E AR E ZAREARE (Young people like to rest in the
park). The students who scored 0 failed to differentiate the
meaning of the word #4%7 (walk) as used in the statement and
the word /& &4K & (rest) from the passage, which led to the
incorrect statement.

In item 5, the question had the statement 2~ E 2 & R A 1k %
A (Every day, there are many people in the public park). The
question was true according to the passage. The students who
got this item wrong had sufficient knowledge of Chinese
vocabulary. Extract 3.3 1s a sample of the student’s incorrect
responses to question 3.

Lird , Zhé gé gongyudn f&ichdng di-

fPldo: X A~ 2> B FF Ko (V)

gongyuan zai ba ba jia de houbian

. »~ R AEEXH B L. ¢ %)

Gongyuanli de hua hé shi hén pidoliang:

2. AR hifm REE. (X))

Biba yé xihudn zii gbngyuanli da taijiquan-

3. EELER A& MRAE ITAHE. (V)

Nidngingrén qu gdongyuanli sanbu-

4. F BAE 2AL Y. (Vv )

GOngyuanli méitian you hén dudrén

5. »RE XA MRS A ( x)

Extract 3.3: A Sample of the Student’s Incorrect Responses to
Question 3.

In Extract 3.3, the student wrote incorrect answers in all items.
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2.2.2 Question 4: Re-arranging the Jumbled Words into Sentences

In this question, there were 5 items which had jumbled words
and the students were required to re-arrange them into
meaningful sentences. The question was set from the topic
School/Time. The topic examined the students’ ability to
grammatically express themselves.

The data analysis shows that 1,921 (100%) students attempted
the question, out of whom 284 (14.78%) scored from 8 to 10
marks which reflects a good performance, 600 (31.24%)
students scored from 4 to 6 marks which reflects an average
performance, and 1,037 (53.98%) students scored from 0 to 2
marks which i1s a weak performance. The students’ general
performance in this question was average, since 884 (46.02%),
students scored 30% or above. Figure 4 summarizes the
students’ performance in question 4.

100 -
90 -
80 -
70 -
60 53.98
50 -
40 - 31.24

-
3 -

20 - 14.78
0 .
0-2 4-6 8§-10
Scores

Percentage of Students

Figure 4: The Percentages of the Students’ Performance in
Question 4

The data analysis shows that, 1,037 (53.98%) students
performed averagely as they scored from 4 to 6 marks. These
students had partial knowledge of the Chinese sentence structure.
They wrote correct answers in some items but failed in others.
Most of them re-arranged correctly in items 2 and 3 but wrote
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incorrect answers in items 1, 4 and 5. For example, in item 1,
the students who scored 0 did not know the uses of the structure
“subject +#% & A% (more and more) +V+N”. This led to the

writing of incorrect responses as one of them wrote @@ @O
K ER L TAH KA (I like Beijing more and more). Other
student wrote @3 @ @£ Z A kAL F7 (I like more and
more Beijing) which was incorrect arrangement. These students
failed to position #%&& A% in the right position. They did not
know that in this sentence 1t had to be placed after a subject and

before a verb. The correct sentence was @@ Q3 (D) #& A & A&

#3127 (I like more and more Beijing) as a correct answer.

In item 3. the students who scored 0 were not familiar with the
sentence structure (Location + # (have) +O) in which the main
verb is A (have) indicating something exists or is present at a
certain place. They re-arranged the words randomly which
resulted to incorrect answers. For example, one of them wrote
OGO LEA % 2L (garden there are many inside
flowers) instead of the correct answer @ Q3@ A 2 A

1% % it (There are many flowers in the garden).

In item 5, the question required the students to apply the
structure H-&+V+7T (about to happen). Those who scored 0 did
not know the usage of this structure and its position in the
sentence. They re-arranged the words randomly making

incorrect sentences. For instance, one of them wrote O ® 3 Q)
BeEH 45 R42 T (Earlier started music concert).

This student did not know that, & <42 was a subject which had
to be positioned at the beginning of the sentence. Thus, leading

to an average performance. Extract 4.1 is a sample from a
student with an average performance in question 4.
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zai YT yuitn mdma bu zai

Bigm: WUE QER (3 88 O3

Béying yug i yué xi huan wo
1. (D% OExH DE® @%
Hanyil women ke jIn Tifin yiu

I

ROES: 3 2)#11 3 & @4 £ G H
@ ®..9.. .U &

hua i héndud hufyuin you

o @2 @R% xa O#H

®.6.9.0.. 2.

---------------------------------

(8]

i Han yd he = xi huan wo
4. 1) . @RiE @k @E % G
®.D . ©....8..C..
kuaiyao le yinyuehui kaishi
SO e @7 B F54& & s

&) .0 @..@2 ....... o

Exfract 4.1: A Sample of Responses from a Student with an
Average Performance in Question 4.

In Extract 4.1, the student wrote correct answer in item 2, 4 and
5 but incorrect answer in item 1, and 3.

Further data analysis shows that, 600 (31.24%) students had
weak performance, they scored from 0 to 2 marks. This
performance was attributed to the students’ insufficient
knowledge of Chinese syntax, meaning of the jumbled given
words and their position in the sentence. For instance, in item 2,
the students did not know that the word #% /] had to be placed at
the beginning of the sentence as a subject, where by an adverb
4~ R (today) had either to be placed before or after a subject.
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Some students placed it at the end of the sentence as one of
them wrote @ ® DR @ £ A XiE % 4 A (We have

Chinese lesson today).

In item 4, the question required the students to apply (S
(Pronoun+#= (and) +Pronoun) +V+0). The students who scored
0 failed to re-arrange it because of insufficient knowledge of
conjunction #= (and) that used to connect the two nouns. This

led to wrong responses. For example, one candidate wrote 5 ®

@B @ & Z X iEF4E (1 like Chinese and him).

In item 35, the question required students to apply the structure
HeZ+V+T (about to happen). In this structure the verb had to
be inserted between % and T to show that the action will
take place soon but, the students failed to recognize this kind of
structure, thus failed to re-arrange the jumbled words correctly.
For example, some students wrote D@3 Q@ HhEF RE&HF 4

7 (earlier music concert to start). Extract 4.2 is a sample of the
student’s incorrect responses to question 4.
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M. R
L zai Vi vuin man hi i
oyt e e o - Vot T
fla: (DA QYEBE 3 %G (4) "
23 SRONORORE)
Beyjing yusldiyus xI huan wi
1. (Db = D fA GF Rk @H
D205
_ Hinyi wHLen ke Jn tian
2. (L R3E &4 & F )
: . . .
(DhHEWD
................................. \~ .
huf oh _hérdu® huayudn you
3.0 2 E{:jg) "y W H OH
@ Hénwu _ he _ xThum wi
4.0 & @RE @ @WEx G
Kuaivao
5.0 &

Extract 4.2: A sample of the student’s incorrect responses to

question 4.

In Extract 4.2, a sample of responses from the student who re-

arranged all sentence incorrectly.

Furthermore, the data analysis indicates that, 284
students performed well on the question, they scored

They also knew their position in the sentence. Additionally, they
mastered the structure of the sentences which helped them to re-

arrange the jumbled words correctly.
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For example, in item 1, the students mastered well the structure
(S+A% Kk A (more and more) +V+ N), that means the degree
something changes along over time. Thus, they wrote the correct
answer QR @ & AkHM ZR Jb% (I more and more like

Beijing).

In item 2, the students were required to use the structure
(S+Adv.+V+0 or Adv.+ S+ V+0). The students who scored full

marks had this knowledge. They noted that, the verb was #
(have), the subject was # 1] (we) and the object was X &R
(Chinese lesson). They also noted the presence of an adverb 4~ &
(today). This helped them to re-arrange words correctly, thus,
they wrote the correct answer @3 DB®/Q@OGO DG AR

A X AER ) EA1A RA X &R (Today we have a Chinese
lesson).

In item 3, the students who re-arranged correctly the words knew
that they had to apply the structure (S+ V+0O). They knew that

the verb was # (have/are). They identified the noun 7% &
(garden) which had to be followed by the word % (inside) to
form £ & Z (in the garden). In addition, they knew that the
object of the sentence was 7%, (flowers) and the word /% % (a lot
of) is an adverb of degree . This resulted to the writing of the
correct answer @QO@ @ L E 24 1k % 7L (There are many

flowers in the garden).

In item 4. the question required the students to re-arrange the
jumbled words among them using the conjunction #= (and). The
students who scored full marks knew that a conjunction used to
join the two pronouns # (I) and # (he). After joining them
formed a subject of the sentence #X #=f% (I and him) or A=
(Him and I). They also knew that word &3k (like) was a verb
which had to be placed after the subject. Lastly, they noted that
the noun X% (Chinese) had to be placed after verb. This helped

students to write the correct answer Q@D @@/ DA @O
28



Fatt, F 3R GE [ Fe % E 335 (I and him like Chinese/ He
and I like Chinese.

In item 3, the question required students to apply the structure
HeE+V+N). The students were familiar that in this structure the
verb had to be inserted between % and T to show the action
will take place soon. They identified the verb JF %4, and the
subject which was the noun & <& (Music concert). Thus, they

wrote the correct answer @ D@ Q@ & R &2HE 47T (Music

concert going to start soon). Extract 4.3 is a sample of the
student’s good responses to question 4.

., &EM.
Li'oé za T yuan mima bui i

d: D QER R BB @ Fa
Fe=y ]

Béyjing yue ld yue xi huan wh

LDk O44E OF% B4

Hanvi wimen ke jin tdn

@®iE @4&MN @ * @"%‘i@};;
...................... IE1CI01O ——

hua i héndud huiyudn

.0% @ QrRs @Wra @r

[

=

............................................................

@ Hin vii xi huan

4. (D) & @iis @#u @5 % @4&
....................... 00008 ...
kudiyio le yinyuéhul kiishi
5.0 ke @7 ® %% @) 74

............................................................

Extract 4.3: A Sample of the Student’s Correct Responses to
Question 4.
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2.2.3

In Extract 4.3, the student re-arranged all the jumbled words
into correct sentences.

Question 5: Completing the Sentences by Using the Words
Given in the List

The question consisted of 5 items in which the students were
required to choose the correct answer to fill in the blanks and
write a letter of a given word. The question was set from the
topic of Housing. The question tested the students’ ability to
describe a size of room and give or ask direction.

The data analysis indicates that, a total of 1,921 (100%) students
attempted the question, out of whom 1,063 (55.33%) students
scored from 8 to 10 marks, that indicates good performance, 714
(37.17%) students scored from 4 to 6 marks which is an average
performance, and 144 (7.50%) students scored from 0 to 2
marks which is a weak performance. The general performance
in this question was good, since 1,777 (92.50%) students scored
30% or above. Figure 5 summarizes the students’ performance
in question 5.

100 -
g 80-
=
f 60 - 55.33
=
- 3717
% 40 -
F
3 20 -
E - 750
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0-2 1-6
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Figure 5: The Percentages of the Students’ Performance in
Question 5

The data shows that, 1,063 (55.34%) students had good
performance as they scored from 8 to 10 marks. This
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performance was attributed by students’ sufficient knowledge of
using Chinese words and sentence structure. For example, in
item 2, the students were required to choose the word #f (which)
to fill in the blank. The students who scored full marks knew the
sentence structure % A + & + ¥ E A (somebody + is +
person from which country) which helped them to write the

correct answer.

In item 3, the students were required to choose the correct
answer B R (measure word for small animals). These students
knew that, there was a noun +J~4& (little cat) which needed a

measure word. Thus, with this knowledge they chose the correct
answer.

In item 4, the question required the students to apply the
structure N + £ + %)L (Noun + (to be on, at, in) to + where)
to answer the question. The students were familiar with this
structure as they noted that, the noun had to be placed before the

preposition 7 (to be on, at, in) to form the possessive subject 1}
% (your home). Thus, they managed to write the correct
answer.

In item 5, the question required the students to use a measure
word. The students who scored full marks knew that, the word

X% (Chinese) can go together with the noun + (book) to form
a noun X3%& 4 (Chinese book) and noun - (book) goes with
the measure word /. Therefore, they chose the correct answer

A (measure word for book).

In item 6, the question aimed to examine the uses of an
adjectival predicate. The students who scored full marks knew
that #% 495 % (my kitchen) is a subject and -~ (small) is an
adjective. They were also familiar that, the word 7~ can be
placed before an adjective. Therefore, these students wrote the
correct answer. Extract 5.1 is a sample of the student’s correct
responses to question 5.
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B, BVBRT, ReRHWEARRORS, F-ALBE.

i zhi bil beén nd jido

AR BR C T DA E F o

N shénme minyzi 7

L (F) Ha s 50

Ni shi gudrén 7

R () B A

]

Wo jid ylu xiumio .
3EAEE - (B)
M zél nd er 7
4, 4% CA) EILY
7he shi han yi shi .
5.3 & s (D) B,
Wa de chifing Xifo .
6. KM B E (L) b,

Extract 5.1: A Sample of the Student’s Correct Responses to
Question 5.

In Extract 5.1, the student wrote correct answers in all items.

Furthermore, the data analysis indicates that, 714 (37.17%)
students had average performance as they scored from 6 to 8
marks. This performance was attributed to their partial
knowledge of the Chinese vocabulary and usage of the measure
words. For example, in item 3 and 5, some students exchanged
the two measure words with one another. This shows that, the
students recognized the two measure words but failed to know
their uses. In item 3, the correct answer was 2 (measure word
for small animals) and in item 5 the correct answer was 4
(measure word for books) but students intermingled them.
Extract 5.2 1s a sample of responses from a student who
performed averagely in this question.



i REHRT, RoHOEEARCNNS. F-HC 5
jia 7ht b bén ni jiao
A% B R CHR D& E & F

M shénme mingzi ?

L#% (F) ft4 & 57

NI shi guérén ?

2.4 & (B) H AZ?

WG jiT ybu 4 xifiomdo ,

LARE - (D) b B,
N i nil er ?

L (F) ALY
Zhe shi hanyi shil |

5. %3 & %iE (R) $.
Wo de chafing xido |

6-"&.%5% (C) ‘J‘o

¥

Exfract 5.2: A Sample of Responses from a Student with an
Average Performance in Question 5.

In Extract 5.2, the student wrote correct answers in items 2 and
6 but incorrect answers in items 3, 4 and 5.

Further, data analysis reveals that, 144 (7.50%) students
performed weakly in this question. They scored from 0 to 2
marks. These students did not understand the words given to the
sentences. Thus, they chose the words by guessing which
resulted to incorrect responses. For example, in item 2, the
students were supposed to choose E " (which) as the correct
answer, because the question required them to identify
citizenship of someone. For example, one student chose C 7+~
(not) which was wrong. This proves that, he/she did not
understand the meaning of the sentence.

In item 3, the students were required to fill the blank by using a
measure word for animals (). The students who scored 0 failed
to identify the correct measure word. For example, one of the
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students chose A % (home) and the others chose *1 (to call).
This proves that the students had insufficient knowledge of the
uses of measure words.

In item 4, the students were supposed to choose A & (home) as
the correct answer, because the question aimed at examining
students’ ability to apply the structure N + £ + )L (Noun +
#£ + where). The students who scored 0 in this item had
insufficient knowledge of this structure which led to incorrect
answers. For example, one of the students chose D /A (measure
word for books) and the other chose B R (measure word for
small animals) as the correct answer. This shows that the
students were not familiar with the structure, thus they failed to
understand the meaning of these words thus led to the selection
of an incorrect answer.

In item 6. the question aimed at examining the usage of the
sentence with an adjectival predicate. Some students who got

this item wrong did not know that 3% 49 B 5 (my kitchen) was a
subject of the sentence and J> (small) was an adjective of the
sentence. They also failed to notice that the word 7~ can be

placed before an adjective. Therefore, all these caused students
to write incorrect answer. For example, some students chose A
% (home) as the correct answer because they understood the
meaning of the phrase #% 4% 5 % (my kitchen), thought that the
word relate to the word % (home), but students were unfamiliar
that the noun phrase #4495 4 (my kitchen) cannot be placed
together with another noun. Other students chose E *} (which),
this shows that, the students did not understand the question
because there is no correlation between the answer and the
question. Extract 5.3 is a sample of the student’s incorrect
responses to question 5.



2.2.4

k. BT, #AEHEEARLORT, F-HLE
jia zhi bl bén n iAo
A% BA CR DA E# F =

Ni shénme mingzi 7

L4 (F) #2452

NI shi gudrén 7
2% & (E) B A
Wi jid you v1 Xidomao ,
LAEKAE - (D) B
Ni i nier ”
4% (A) ERL?
Zht shi hanvi shil .

5. % & WE (L) P,

Wé de chifing Xido .
ERHEA (D) b

[}

[ o)

v

Extract 5.3: A Sample of the Student’s Incorrect Responses to
Question 5.

In Extract 5.3, the student wrote incorrect answers.

Question 6: Completing the Sentence by Using the Words
Given in the List

The question comprised 5 items in which the students were
required to choose the correct words from the given alternatives.
The question was set from the topic of Jobs. The question aimed
at examining the students’ ability to talk about work place.

(5]
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w, RAE. ROEBUFARCHRT., F-ReBE,
FIEH.’I b shi Ribén Hanyi ol d&  Gdngyudnk
A®T BERR CHX DRX#E Ef#® F Ar8%

you hui hé shir
L (F)R& 4 #,

W0 shi auéshéng
AR () %4,

Ni shi gem?
= T AGE & & ¥

Ni b ba shi Vi shing ?

HEER( )E &7

L

b=

Lixidoléng shi én -
EPER () A

n

The analysis shows that, 1,921 (100%) students attempted the
question, out of whom 474 (24.67 %) scored from 8 to 10 marks
indicating a good performance, 777 (40.45 %) students scored
from 4 to 6 marks indicating an average performance and 670
(34.88 %) students scored from 0 to 2 marks which is a weak
performance. The general performance in this question was
good, since 1,251 (65.12 %) students scored 30% or above.
Figure 6 summarizes the students’ performance in question 6.
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Figure 6: The Percentages of the Students’ Performance in
Question 6

The analysis of data indicates that, 474 (24.67 %) students
performed well by scoring from 8 to 10 marks. These students
mastered well the Chinese vocabulary. They managed to read
the sentence and understood them and identified the proper
word from the given alternatives. For instance, in item 2, the
students who scored full marks chose the correct answer D X &
(Chinese language). These students knew that, the structure of
the sentence was (somebody + 5% (is) + noun) which used to
introduce somebody’s occupation or status. They also knew that
an occupation or status is a noun that can be placed together
with another noun to clarify more about somebody’s occupation
or status. Thus, they chose the noun X% (Chinese language) to

form the word X% % (Chinese language student).

The students who scored full marks in item 3, managed to
choose the correct answer because they knew that, the structure
of the sentence needed a possessive pronoun to fill in the blanks.
Thus, the selection of E 449 (yours) was the correct answer.
The other words were not possessive pronoun.



In item 4, the students who managed to choose the correct
answer knew that, an item used the structure V +7~ (not) + V.
Thus, they noted that, the correct answer was 7~% to form the

word £ 2 (...).

In item 5, the students were required to choose the name of the
country which was H A (Japan) to fill in the blank. The
students who scored full marks knew that, the sentence structure
was EZA + & + BE + A (somebody + -2+ country +
person). In the sentence the name of the country was needed to
form the word (Japanese person) H A A.. These students
identified the correct answer because they knew that, the other
given alternatives were not names of the country.

In item 6, the students were required to choose a noun which
uses the measure word 4 (measure words used for trouser, road
and long objects). The students who scored full marks in this
item knew the uses of the measure word 4. Thus, the students
chose A #&-F (trouser) as the correct answer. Extract 6.1 is a
sample of a candidate’s correct responses to question 6.



~o BARE RAENABARR GG, F-HLEY,
ku il bishi ©  Ribén Hanyi oi de  Gongyudnli
A% BAE CHEA DX# EHRHTF AEE

vou hud hé shi

L (F) A A,

WO shi suéshéng |
244 (D) # &,

Ni shi geema?
302 (E) §5 99

Ni bh ba shi y1shéng ?
shssr (B E %o

Lixidoldag shi rén

. RENE 2 (G) A,

Xﬁmhong y0u san tido

b Az (b)),

Extract 6.1: A Sample of the Student’s Correct Responses to
Question 6.

In Extract 6.1, the student wrote correct answers in all items.

Furthermore, the data analysis indicates that, 777 (40.45%)
students performed averagely as they scored from 4 to 6 marks.
These students chose correct answers in some items and failed
in others. They grasped the meaning of little vocabulary and
how to use them. Their partial knowledge of the words given led
them to scoring an average performance. Extract 6.2 is a sample
of responses from a student with an average performance.



. RERE. ROEHAEARCHRS, F-ALHE,

ki 7 b shi Ribén Han yi o de’ Gogyudnki
A#®RT BR& CHAE DiX# E#f® F LrEZ
you hui hé shi
. (F) A& 4+ #.
W shi xuéshéng .
2. 4% (B) ¢4,

Ni shi gige ma?

4R ) #¢ 992

NI bdba shi ( A) Vi shéng 7
4. HEER E 4 7

Lixidolong shi ®n -

5*'1'&;&. (Ct) )‘\o

Xidohéng you san tigo ( D) «
6. M E=Z%

Extract 6.2: A Sample of Responses from a Student with an
Average Performance in Question 6.

In Extract 6.2, the student wrote correct answers in item 3 and 5
but incorrect answers 1n items 2, 4 and 6.

Further data analysis shows that, 670 (34.88 %) students had
weak performance because they scored from 0 to 2 marks.
These students had insufficient knowledge of the given
vocabulary and their uses. For instance, in item 2, the students
did not know the structure of the sentence (somebody + 5Z (is) +
noun) which is used to introduce somebody’s occupation or
status. Thus, they ended up writing incorrect answer. They
failed to choose the correct answer as one of them chose A #5
(trouser). This shows that he/she made a guess work.

In item 3, the question required the students to use possessive
pronoun. The students who scored 0 did not know that this
sentence needed a possessive pronoun. Thus, they filled it by
choosing randomly the alternatives, which led to incorrect
answer. For example, some students chose B 7~5Z (not), they
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thought that the sentence had V +4~+ V structure because at the
end of the sentence there was a question mark, but this was
wrong because the sentence already had an interrogatives “3.

In item 4, the students were required to use V +7~+ V structure.
The students who scored 0 had insufficient knowledge about the
structure thus ended up selecting an incorrect answer. For
example, some students chose A #% F (trouser) which was
wrong because the answer was a noun and the question needed
the verb.

In item 35, the students were required to use the sentence
structure A + & + EE + A (somebody + ;Z+ country +
person) of which the name of the country was missing. The
students who scored 0 marks had insufficient knowledge to
understand about the structure. For example, one student chose
D X% (Chinese language) which was wrong.

In item 6, the students were required to choose a noun which
uses the measure word 4 (measure words used for trouser, fish
and road). The students did not master well the uses of the
measure word Zc. Thus, they chose incorrect answer. For
example, some students chose C EH /A (Japan) and the other
students chose E 1149 (yours). These responses prove that the
students did not master the vocabulary given. Extract 6.3 is a
sample of incorrect responses to question 6 from a student with
weak performance.
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]ﬂ:JZi b shi Ribén Hinvi oi de  Gongyuanli
A®¥ BARR CHBA DX# E4# F 2EE

youhud hé shiv

L (F)AE A H.

Wi shi xuéshéng .

L. 4% (E) %24,
Ni shi gt ge ma?
IR (B) FF %7
Ni biba shi ¥ shéng ?

L4522 CIE £ 7

Lixidoldng shi ¥n:
s EMER (D) A,

Xidiohdng ybu sin tido :
6. bEAZE (A,

Extract 6.3: A Sample of the Student’s Incorrect Responses to
Question 6.

In Extract 6.3, the student wrote incorrect answer in all items.

Question 7: Writing Chinese Characters of the Given Pinyin

In this question, the students were given five (5) items each with
a word in brackets written in pinyin and they were supposed to
write its character. The question was set from the topic of
Hobby/Shopping. This question aimed at testing students’ ability
to use different expressions when shopping and talking about
hobbies. The question was as follows:
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L. REHEFFHF.
Wao shi Zhongguo  rén -
oA A& ( ) Ao

Wo yao mai hén dudé  ddngxi -

2, H & X KR % ( )
Ta jintiin chi le liang jidan -

3. AKX e T #A ( ) o
Women ban you shi ge xueéshéng -

4. KM = H + A~ ( ) .
shangdian 11  you hén dud niundi -

s. B & 2 H Ok FB( )
NI hai yao shénme -

6. 1 & & ( ) o

The analysis of data shows that, 1,921 (100%) students
attempted the question, out of whom 892 (46.43%) scored from
7 to 10 marks indicating good performance, 1,000 (52.06%)
students scored from 3 to 6 marks which reflects an average
performance and 29 (1.51%) students scored from 0 to 2 marks
which is a weak performance. The overall performance in this
question was good, since 1,892 (98.49%) students scored 30%
or above. Figure 7 summarizes the students’ performance in
question 7.
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Figure 7: The Percentages of the Students’ Performance in
Question 7

The data analysis indicates that 892 (46.43%) students had good
performance, they scored from 7 to 10 marks. These students
demonstrated sufficient knowledge of Chinese strokes orders
which are crucial for accurate character formation. They
recognized the given words in pinyin and memorized their
characters and wrote them correctly. One of them wrote dongxi
A% (things), jidan %% (egg), xuéshéng % 4 (student), nitindi
4475 (milk) and shénme 1+ 4 (what). Extract 7.1 is a sample of
the student’s correct responses to question 7.

e L. 2. 3, 4. | s
| Zhing |gué |dong [xi [ji [din | xué |shéng niliEnii shén | me

T % [al@F ¥ |F ] L

Extract 7.1: A Sample of the Student’s Correct Responses to
Question 7.

In Extract 7.1, the student wrote correct characters in all items.
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Moreover, 1,000 (52.06%) students performed averagely as they
scored from 3 to 6 marks. These students demonstrated partial
knowledge in writing characters. They did not master well the
strokes which resulted into incorrect characters writing. Most of
students failed in item 2 and 5. For instance, in item 2, a word
dongxi % ¥ (things) some students wrote %7 where by the
character %) was wrong, it is used in a word like iZ3) (sports),
some used % as in a word %A (winter) they wrote %o, %3]
and % &, others wrote 7# & with character & which is used in a
word xiixi (to have a rest) which was wrong. Other students
wrote dongxi with the character 5 which used in a word &% (to
like), thus they wrote the word % 5 and some wrote %A ] (study)
while character 3 used in a word % 3] though it sounds the
same as the given xi in the word dongxi but has a different
character. The analysis shows that these students recognized the
pinyin but failed to write a precise character as they were
confused by some words with same pronunciation but differ in
character writing (homophones).

Those who scored 0 in item 5, failed to distinguish certain
characters that appeared similar but had some slight differences.
The students were required to write the character 447 (milk) but
some of them wrote nidn 4 (year), others wu “+ (noon), gan T
(to do). This proves that candidates had partial knowledge of the
characters which resemble each other but are distinct. This led
them to perform averagely. Extract 7.2 is a sample of responses
to question 7 from a student with an average performance.

1] 4o 1. 2. 3. 4. : 3
le‘ﬂng guo dong  xi _ﬁ) dan | xué shéng | nid | ndi

T HEEFEEEL A

e

Exfract 7.2: A Sample of Responses from a Student with an
Average Performance in Question 9.

In Extract 7.2, the student wrote correct character in items 3 and

item 5 but failed in items 1, 2 and 4.
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However, the data also reveals that 29, (1.51%) students had a
weak performance because they scored from O to 2 marks.
These students had insufficient knowledge of character writing.

They failed to observe the rules of writing Chinese characters.
Some students wrote incorrect characters due to mistakes in
radical formation and strokes order. Few students copied
characters from other questions resulting to wrong answers. For
instance, in item 1, the students who scored 0 were required to
write characters Z & (things). Most of the students failed to
recognize this word, they ended up writing incorrect characters,
one of them wrote 4, while the other wrote L while others
wrote %) instead of Z. They also wrote 1+, #% and 3] instead

of character 7.

In item 2, the students were asked to write the word %% (egg).
Most of them who scored 0 wrote incorrect characters which
were missing some strokes. For instance, one of them wrote #L
instead of #% . This student was confused by the same
pronunciation of the two characters but failed to differentiate the
characters (homophones).

In item 3, the students were asked to write the word % 4
(student). Students who did not respond correctly to this item,
did not understand the meaning of the words. Some students
copied words from the question paper, as one of them wrote #2
J& (to wake up). Other students wrote characters which have the
same pinyin with 4, as one of them wrote % and the other

wrote 7.

In item 4, the students were asked to write the word 445 (milk).
The students who scored 0 failed to write the characters as some

of them, the character 4 missed one stroke. They also wrote
incorrect character 77 instead of %3 . This character was
incorrect because it missed the radical.
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2.2.6

Lastly, in item 35, the students who scored 0 failed to write the
word 1+ 4 (what). These students had insufficient knowledge of
the given words. They wrote incorrect characters by guessing.
Some of them exchanged the characters as one of them wrote 4
1+ instead of f+ 4 . This proves that, these students had
msufficient knowledge of recognising characters and did not
master how to write them. Extract 7.3 1s a sample of the
student’s incorrect responses to question 7.

¥4 L. | 2. | 4, | 5.

shén

me

4

Zhong  gud dong |xi |7 [dan Xué | shéng | ni ndi

,qa . %;i*m_rf££4u3!+
Extract 7.3: A Sample of the Student’s Incorrect Responses to
Question 7.

In Extract 7.3, the student wrote incorrect character in all items.

Question 8: Writing the Pinyin for the Given Chinese
Characters

In this question, the students were given five (5) items written in
Chinese characters and they were asked to write their respective
pinyin (initials, finals and proper tone marking). The question
was set from the topic of Food/Nature. This question aimed at
testing the students’ ability to write the pinyin correctly in terms
of nitials, finals and marking respective tone(s).

The data analysis indicates that, 1,921 (100%) students
attempted the question, out of whom 1,051 (54.71%) scored
from 7 to 10 marks indicating a good performance, 705
(36.70%) students scored from 3 to 6 marks which indicates an
average performance, however, 165 (8.59%) students scored
from 0 to 2 marks which signifies a weak performance. The
general performance in this question was good, since 1,756
(91.41 %) students scored 30% or above. Figure 8 summarizes
the students’ performance in question 8.
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Figure 8: The Percentages of the Students’ Performance in
Question 8

The data analysis indicates that, 1,051 (54.71%) students had
good performance, they scored from 7 to 10 marks. These
students recognized the characters with their meaning(s) hence
they wrote the pinyin (initials and finals) correctly with their
respective tones. They also marked the tones appropriately. This
shows that, the students who managed to score good marks
understood the question and had sufficient knowledge of
Chinese pinyin (initials, finals and tone marking). The question
items were; 1. 5T fangzi (house), 2. /)N4% xidomao (cat), 3.
B huayvuan (garden), 4. 3 ¥ cdodi (grassland), 5. i &
piaoliang (beautiful). This indicates that, they had sufficient
knowledge of Chinese hanzi/characters and has mastered well
the rules of writing pinyin. Extract 8.1 1s sample of the student’s
correct responses to question 8.

48



)\. é%‘ ;’1? ﬁ:?i 'ﬁfﬂg—o
Lird

B4 47%F Ni hio

2 g Xdormo .
3. B Wle .
4, B3 oGO8, .
5 :’.—s:'%...fiﬁ.".f.f.'ﬁﬂg ....................................... .

Exfract 8.1: A Sample of the Student’s Correct Responses to
Question 8.

In Extract 8.1, the student wrote correct pinyin in all items.

The analysis of data shows that, 705 (36.70%) students
performed averagely as they scored from 3 to 6 marks. These
students wrote correct pinyin of characters in some items but
failed to. in others. Some of them wrote correct initials and
finals but marked incorrect tones. Most of students scored half
marks instead of full marks because they were able to write only
a part of a word especially for the characters with few strokes.
For example. some of them wrote correctly characters -1 in a
word 5 ¥ fangzi, *J» in a word /38 xidoméo and left the other
part of the character which had many strokes. Some students
were confused by a part of a character ¥ in a word 4 with a
part of a character in a word 4§ (good), thus, they wrote fanghao
instead of fang=i. Other students got confused in item 4 s
(grassland) where others failed to distinguish between the
character & cdo and F zdo, ¥ di and f& ta, %& ta and 4 ye
which have some resemblances thus they wrote 4, i,
F4,, F4b, some wrote words randomly in order to fill in the
blanks. Extract 8.2 is a sample of responses to question 8 from a
student with an average performance.
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Extract 8.2: A Sample of Responses from a Student with an
Average Performance in Question 8.

In Extract 8.2, the student wrote correct characters such in items
2. 3 and 5 but failed in items 1 and 4.

Additionally, 165 (8.59%) students had a weak performance,
they scored from 3 to 6 marks. This performance was attributed
to inadequate familiarity of Chinese language vocabulary. They
encountered challenges in memorizing the pinyin of the given
characters. Others failed to mark tones appropriately but initials
and finals written correctly. Some of them did not recognize
where exactly the tones were supposed to be marked with
regards to the tone marking rules. Few of them copied pinyin
from the question paper which were pronounced the same as the
given words. While others on the other hand., did not even
understand the demand of the question, thus decided to leave it
unanswered. There were also students composed sentences from
the given words and the rest made a guess work by writing
pinyin which are unrelated to the words given. Extract 8.3 is a
sample of the student’s incorrect responses to question 8.
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AL BT AR BE .

‘f;llg:-*: 154 Ni hio

1. %%1»1-:@1#1593@1 ........... .
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5. @ JLE W08 3. B0 ke ,
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s e NEH B ERIRCER .

Exfract 8.3: A Sample of the Student’s Incorrect Responses to
8.

In Extract 8.3, the student created sentences using the words
given instead of writing pinyin in all items.

Question 9: Jumbled Sentences

This question required the students to re-arrange the given
jumbled sentences into a meaningful paragraph. They had to
write the letters of the correct answers in the spaces provided.
Item C was given as an example. This question was set from the
topic of friends. This question aimed at testing students’ ability
to analyze things logically. The question was as follows:

s - b = e e 30 4 e .
L. A TF@OFEWRHA, dapsad, P —-Hzshd;,
Gongyudnli you hén dud rén 231 sénbi

A CcEHY W K 3 ALENY.

Jig difin wo zudchE g gongyvudn-

B 7t & & 44 & » 1B .

Wé zhoshang gi didn gichuing

CHF E £ & 25 .

Ba dian chifin:
D A & L,

You de rén sdi aué da thljiquan

E#H 6 A& 4y K,

Wo wvi xidng xué thijiquin

F & & 8 4 K#u$,
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The data analysis indicates that 1,921 (100%) students
attempted the question, out of whom 748 (38.94%) students
scored from 8 to 10 marks indicating a good performance, 434
(22.59%) students scored from 4 to 6 marks reflecting an
average performance, and 739 (38.47%) students scored from 0
to 2 marks reflecting a weak performance. The general
performance in this question was good, since 1,182 (61.53 %)
students scored 30% or above. Figure 9 summarizes the
students” performance in question 9.
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Figure 9: The Percentages of the Students’ Performance in
Question 9

The data analysis shows that, 748 (38.94%) students had good
performance as they scored from 8 to 10 marks. These students
had a good command of Chinese language. They had sufficient
knowledge of arrangement of events according to the time. For
instance, in item 2, they chose D /\ & *Z/R (I eat food at 8:00
in the morning) followed by item 3 B 7 & & 4 & % 2~ H (I
go to the park at 9:00 in the morning) as the occasions occurred
consecutively adhering to time sequences.

In item 4, the students chose A & 2 A & % A £ #&F

(There are many people walking around in the park) as they

knew that the place 2~ [E (park) had been already mentioned in
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sentence 1 and 3, thus, this sentence adds more information
about what is happening in the /.~ [& (park). The added
information helped students to choose E in item 5 # #§ A f£
% 4T K# %A (some people are at the park learning to play
taichi). Lastly, the students choose F in item 6 3% 4. 78 5 K#%
Z (I also want to learn taichi), because they noted that the
sentence complements some extra information to sentence 5.

This proves that the students mastered well the topic. Extract 9.1
1s a sample of the student’s correct response to question 9.

>

i11:"4'56 |

cIdlB A TE [F
Exfract 9.1: A Sample of the Student’s Correct Responses to
Question 9.

In Extract 9.1 the student re-arranged correctly all the items.

Further analysis shows that 434 (22.59%) students performed
averagely scored from 4 to 6 marks. These students had a partial
knowledge of the given jumbled words. Mostly re-arranged
correctly in items 2 and 3 but failed in items 4, 5 and 6. For
instance, one of them choose F # 4 #1 5 K4 %4 (I also want
to learn raichi) and E A 45 A f£ 5 3T K#% (some people are
at the park learning raichi) which was wrong, instead of E for
item 5 and F for item 6. This implies that some of them failed to
understand the sentences but had some ideas that in sentences E
and F one of them must precede the other because of the word
KH % (taichi) in both sentences. They failed to realize which
one had to start first and which one had to come next. Other
students did not know the meaning of some sentences given thus,
selected answers randomly in order to fill in the gaps. Extract
9.2 1s a sample of responses to question 9 from a student who
performed averagely.
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Exfract 9.2: A Sample of Responses from a Student with an
Average Performance in Question 9.

In Extract 9.2, the student re-arranged correctly items 2 and 3
but failed in items 4, 5 and 6.

Furthermore, the data analysis shows that, 739 (38.47%)
students performed weakly as they scored from 0 to 2 marks.
Their failure was attributed by insufficient knowledge of
Chinese language terminologies related to time and events with
their relationships to chronological order thus ended up
randomly choosing and re-arranging unrelated sentences. Some
students failed to understand the concept of time as used in
sentence B and D whereby they were supposed to choose D for
item 2 and B for item 3. These sentences logically start with
2 (8:00 am) then #u.% (9:00 am) and not vice versa. This
reveals that, the students had insufficient knowledge of
organizing 1deas. Extract 9.3 i1s a sample of the student’s
incorrect responses to question 9.

5%
F'l ] 2"_'] i | 4 | 5 |6 i
| .
1
|_ L_ ! .F 0 _E - J—D__ |
Exfract 9.3: A Sample of the Student’s Incorrect Responses to
Question 9.

In Extract 9.3, the student re-arranged incorrectly all the items.

2.3 SECTION C: Writing a Composition

In this section, there was one (1) question about creative writing. The
students were given the guiding words of which they were required to
use them to make sentences. This section has a total of 15 marks.
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2.3.1 Question 10: Writing a Composition

In this question, the students were given 5 guiding words
set from the topic of Colour and size/Fashion and entertainment.
The students were required to use them to compose five
sentences. The question aimed at testing students’ ability to
compose and express ideas in Chinese language by using
characters. The question was as follows:

+. AREBHLRIFARFE 5 436,
—Eﬂxing hiokan xin hua vi fu  chudn

wir, ¥&, #, &£, RIR, ¥

Lira

Hlde: A5 RAiTOOHE X BE,

A total of 1,921 (100%) students attempted the question. out of
whom 201 (10.46%) students scored from 10 to 15 marks which
indicates a good performance, 590 (30.71%) students scored
from 5 to 9 marks which signifies an average performance, and
1,130 (58.83 %) students scored from 0 to 4 marks which
reflects a weak performance. The general performance in this
question was average, since 791 (41.17%) students scored 30%
or above. Figure 10 summarizes the students’ performance in
question 10.
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Figure 10: The Percentages of the Students’ Performance in Question
10

The analysis reveals that, 590 (30.71%) students scored from 5
to 9 marks, which is an average performance. These students
had a partial knowledge of the topic given especially the
vocabulary. They did not understand the meaning of some
guiding words which affected them in composing sentences as
some of them composed ungrammatical sentences or
meaningless sentences. While some of them composed
sentences that are grammatically correct but semantically
incorrect. For example, one student wrote #% 494343 &3k "L R
Jk. (My mother likes eating clothes), the sentence structure is
correct but semantically wrong, the clothes cannot be eaten.
This shows that, the student did not know meaning of the word
i (clothes). Few of them wrote phrases and words instead of
a complete sentence, for example, one student wrote the word
it (flower), the other wrote f& [ (garden) which is not a
sentence.

Further analysis shows that, there were students who wrote

correct sentences by using the word 474 (looks good) and %

(wear). For instance, one of them wrote X /N #&-F1&4F4& (This

cup looks good) and % F iZ 5549 RJRK (she wears a beautiful

dress). This proves that they mastered well these vocabularies.
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Extract 10.1 i1s a sample of a student’s response performed
averagely.

=
Bl4e: A% RiTHIHE R B,

.............................................................

-----------------------------------------------------------

------------------------------------------------------------

Extract 10.1 A Sample of the Student’s Average Performance to
Question 10.

In Extract 10.1, the student wrote correct answers 1n items 3 and
4 while failing in item 1, 2 and 5.

Further data analysis indicates that, 1,130 (58.83%) students had
a weak performance as they scored from 0 to 4 marks. This
performance was affected by their insufficient knowledge of
Chinese language guiding words given and their meaning. For
instance, few students copied words (pinyin or characters) from
the question paper. Others wrote ungrammatical and
meaningless sentences while others among them left the
question unanswered. This implies that, the students did not
comprehend the guiding vocabulary given. Extract 10.2 is a
sample of the student’s incorrect responses to question 10.
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Exfract 10.2: A Sample of the Student’s Incorrect Responses to
Question 10.

In Extract 10.2, the student misinterpreted the question he/she
repeated an example sentence by replacing the main verb with
the guiding words given instead of creating sentences.

The data indicates that, 201 (10.46%) students had good
performance as they scored from 7 to 10 marks. These students
had a good command of Chinese language vocabulary, sentence
structure and meaning of the given guiding words which
resulted into grammatical and meaningful sentences. Further
analysis shows that, due to their sufficient knowledge of
Chinese language, they knew the words® meaning 474 (good
looking) V. #7 (new) Adj, 7% (flower) N, &k (clothes) N and ¥
(wear) V. They also knew how to use them in the sentence.
Therefore, they wrote the correct sentences. Extract 10.3 is
illustrative.
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Extract 10.3: A Sample of the Student’s Correct Responses to
Question 10

In Extract 10.3, the student wrote correct sentences in all the
items.

STUDENTS’ PERFORMANCE IN DIFFERENT TOPICS

The students” performance analysis of the topics assessed in Chinese
Language subject for the year 2023 shows that, the general performance was
good in topics of Personal information/Family Introduction, School/Time
Transportation/Travel and custom, Hobby/Shopping, Environment and health,
Housing, Food/Nature, Jobs and Personal information/ as well as Family
Introduction. Topics of Friends and Color and size/Fashion and
entertainment had an average performance and weak performance in the
topic of School/Time. The summary is shown in the Appendix.

The topic performed well were Personal information/Family Introduction,
School/Time Transportation/Travel and custom (96.98), Hobby/Shopping
(98.49), Environment and health (97.03), Housing (92.05), Food/Nature
(91.41), Jobs (77.46) and Personal information/Family Introduction (65.12).
The good performances in these topics were attributed by their sufficient
knowledge, skills, and competence in Chinese Language grammar and ability
to answer the questions according to the need of the questions.

The topics performed averagely were Friends (61.5) and Color and
size/Fashion and entertainment (41.8) this performance was affected by the
students’ partial knowledge of the topics given. This led them to answer
correctly some items but failed in others.
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The students performed weakly in the topic of School/Time (14.78). The
weak performance was attributed to students’ insufficient knowledge of
vocabularies, sentence structure and writing characters. The analysis of the
students’ responses indicates that, they failed to express themselves in
Chinese Language.

CONCLUSION

The performance of the students in the Form Two National Assessment in
Chinese Language for the year 2023 was good as 93.39% of the students
passed. Data analysis reveals that, 98.49% of students performed well in
question 2. Further data analysis reveals that, there were questions performed
averagely. Furthermore, in question 4 the students performed weakly. These
students had insufficient knowledge of vocabularies which disabled them
from expressing themselves precisely in the Chinese Language. They also
had insufficient knowledge and skills pertaining to the topics tested.
Moreover, they failed to apply the Chinese grammatical rules and principles.

RECOMMENDATIONS

For better improvements of the students' performance in the Chinese
Language subject, it is recommended that:

5.1 Teachers should guide students in reading passages to improve their
vocabularies and grammar. This can be achieved through giving them
simple texts.

5.2 Teachers should guide students on how to read and write pinyin
especially the tone marking rules, initials, finals and syllables. This can
be achieved through giving students more reading and writing
exercises.

5.3 Teachers should guide students on how to write Chinese characters
while emphasizing on the basic strokes and radicals. This can be
achieved through giving students more writing exercises.
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APPENDIX: Summary of the Students’ Performance per Topic in Chinese
Language Assessment - FTNA 2023

Percentage of
Question | Students who

SN Number Passed in Remarks
Topic Each Topic
l. Hobby/Shopping 7
2. Environment and health 3
Personal
information/Family
3. Introduction, 1
School/Time
Transportation/Travel
and custom
4. Housing 5
5. Food/Nature 8
6. Jobs 2
Personal
7. information/Family 6
Introduction
8. Friends 9 61.53 Average

Col d size/Fashi
9. O'or and sizeftasaion 10 41.17 Average
and entertainment

10. | School/Time 4
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